212fw-07 Pompom Tam

Suggested yarn:

* Pierrot Yarns Arles DK [100% baby alpaca; 133 yds/122m per 1.76 0z./50g skein];
+ color #02 milk caramel, 2 skeins [60g]
+ color #04 choco brown, 2 skeins [60g]
+ color #05 milk tea, 2 skeins [60g]

Tools/Notions:
+ 5.7mm (approx. US 9) and 7.0mm (no US equivalent) double-pointed knitting needles or sizes necessary to achieve gauge

Finished measurements:
* head circumference 50cm/19.69"
* length 28cm/11.02"

Gauge (10cm/4" square):
« stockinette stitch: 14 sts and 20 rows

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

Knitting Tips
% Entire tam worked with 3 strands of yarn held together (1 strand of each color).

Tam: Cast on with long-tail cast-on method; work in k1p1 ribbing in the round. Continue in stockinette stitch, changing needle size as indicated and referring to chart for decreases. Thread yarn
through remaining 14 stitches and cinch top of hat shut.

Finishing: Make pompom by wrapping yarn (3 strands held together) 120 times around a piece of cardboard 10cm/3.94" in diameter. Fasten pompom to tam.
Abbreviations:

CO =caston
#-#-# = rows-stitches-times
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10-st repeat: work 7 times



